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The difference between compound interest and simple

interest for two years on a sum is Rs. 54, find the sum if the

rate of interest is 6% annum.
Wﬂﬁmﬂﬁﬂm % [oTT Ih gl &Sl 3R HTURU &ATS & §1d

-:b& 54 Ife SIS BT S 6% Ufday g, df I I
3
—% M@%— a) Rs. 12000
[0 x4&6- 50
T ) Rs. 18000
{ =14 C) Rs. 21000
d-0 \,d{
g Rs. 15000
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If two cows and three horses cost Rs. 4,000 and three cows
and two horses cost Rs. 3,500, how much does a cow cost ?

T T 3R o °rs! &1 5 4,000 $9T 3R oI T 3R

SR al
&l grel & TG 5 3,500 U3 3, T TG T T T 272
[ 09” ‘Z;_QU‘D@ 3) Rs: 1500
— ) — ~ b) Rs. 1,000

C — :T—EB‘OJ
| SO \,e')é. 500

d) Rs. 2,000
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Narendra borrowed Rs. 32,000 from a bank at the rate of 5%
per annum, after 3 years, how much amount he will have to
deposit if the sum is compounded annually?

RS TP db T 5% Thdiy Tol, Uiday bl 22 T 32,000 3T
Gﬂr{ﬁ?ﬂ% Saﬂcaﬁ gfe R I 9t =0 I JIiferd fpa
uﬂcu% dH fad=t MR STHT HAT BRIT?

L)/ - Iyt [ qLG/) "‘"@/)/’7’044
& P b) 36.800

3= _ q26)
7.~ (A 7)) T Tew C) s7s00
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Find the smallest number should be multiplied by 864 to

make a perfect cube number.
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?éﬂ d) None of these
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Three numbers areinratio4 : 7 : 11 and their LCM is 4004.
Their HCF is

NG \H'@J@,F U H § 3R 370! aYaq JHIad

4004 T | 39T 0599 JUTUdqd T 572

H(ﬁ:l_.[ a) 11

4y 1w liH ’ M
AT ) 5
3

d) o
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SpaceX' began a space project with $ 85000. After some
eeing a profit another company ‘Blue Origin® join the
project with $ 51,000. If the profit at the end of the year are
divided in the ratio of 5 : 1, then for how much period does
Blue Origin join?

T (85000 35 IR 3 WY T sfafe TREe
HA1 ¢ | $S GHT d1e, AH DI ¢7d gU, TH 3 HUT &
RIS $ 51,000 & AT TGRATSHT | M Bt gl Il a8 &
AT Y 5 : 1 & gurd | fqvriora fowam omar §, o & 3iikfom

et vt 5 o vt 2T 27 \/z,ﬁmnms
A\ £

) v .=gS — ._b— montns

’ oY b)s th

C) 5 months

d) 8 months
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Taps A can fill a tank 7 times faster than tap B.If both the taps opened together
and they fill a tank in 5%hours.Find the time taken by tap B to fill the tank

T HRAH & e mk 3{hel d B

<l

NEIRIEI]

42 hours

b) 7 hours

@ C) 6 hours

d) 35 hours
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TN
A crate of fruits contains one spoiledruit for every 30 ruit the spoiled
fruits were sold. If the seller had sold 48 spoiled fruits, then the number of fruits

in the crate that are not spoiled.

Bl o Ueh I H Y 30 Tl H Y Ueh R1d hdd ¢ | WR1d gU Hdll H 3 30%

o QU U] Ifc fachdl 4 48 W Bd &4 4, dl SIh T WRId ol gU Bl DI G=Al
GG
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A circular park has a circular path of a width of 4 cm around it.
If the ratio between the area of the outer and inner circle is
169 : 81, then find the diameter of outer circle.

U JAIHR UTeh & IRI 3R 4 YHI BT A18T5 HT TH JAIHR Y
g | e TTERT 3R SMIdAN® gd & &AHd & ard Bl ST 169 :
81 B, dl ST8XI g BT T J1d DI |

v b) 24 H
) 23 It
d) 26 AT
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Find the largest 4 digit number that is divisible by 8, 15, 16
and 20 exactly.

4 3P| Bl JIY Fo! BT J1d BIfS SF 8, 15, 16 3R 20

Egﬂh: fa I
K x5 9920
o Eg
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Ratio b/w age of Rita and Sima is 2 : 5, and the sum of their ages 84. What is
the difference of their after 3 years?

34T 3R AT DI 3R BT < 55, AR AP I HTANT84 5| 3 IV &I

a) /2
Vb)/ss
C) 54
d) 40
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X P dg -AdH HH 1 ¢ o fb 2x5472, 9 I faH=Y gl SIv|
What is the least value of x, so that 2x5472 is divisible by 9.

EFAAL A

|

e
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Suresh travels to office at 3 speed -::1 ym/hr and on his way back, he travels
at a speed Df /hr. Find the averag speed of the whole journey?
IR DA SoLAR 30 fhdider & ard I I ddl g 3R d199 Siid 94 98 45
[opHieer B are “3[ O DRl & | G2 AT B S dTd 1 DI ?

Twz . ( Tockn )36%{3’21

x4 b)40 fabefi/eiet

C) 30 fhdirder
d)33 fepai/eer
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A man, rowing a boat, covers a distance @n in 7 hours downstream. He
covers (1/3)rd distance in same amount of time when rowing upstream.
Calculate the speed of the stream.

U Al =19 9dld gU, YRI & ajcggm 7 9¢ T 21 fbul I ol 99 DRl g1 98 4RI
b Ufdd e 19 Idld gU g D (1/3)d U DI HA Huqf{dq HRAT o | YRT P! I

@I MU DSl g %

3 km/h
B+0) 7/( _;I —”U J/

~ b) 4 km/h

C) 5 km/h
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Rarked Price of an saree is Rg 400. i)mc: successive discounts off_

' its marked pri find the selling prn::e of sarge.

-- BT 3ifdpd T T, 400. B 3ifdd T W 10% 3 EI%DICLIQ?HHICI
= & S B ISt 1 s g 91d PR
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A can do work in 4 days and B can do the same work in 5 days. The contract for
the work is Rs. 9000. What will be the share of B if they will work together?

A4 el § th &1 H IHdi g 3R B 34t &1 &1 5 feAi § 2 gbdl o | H1H Pl
3¢ Q0Q0.¥Ud § | Al d [HeIhR HIH B dl B BT [l 3T gRII?

a) 4000
k)) 5000

C) 1000
d) 2500
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The length of the rectangle is 25% more than its breadth and the area of the
rectangle is 125 cm?, find the perlmeter of the reatangle'?

3d 3ad BT &4FTHd 125 IH18 T,
3d 3T obnuw?

25cm

)35 m
‘ V){
&qu)d)% cm

xj_@
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The sum of two numbers is 26. Their L.C.M and H.C.F and 2
respectively, find the difference of these numbers.

&l DTS DT ARTHd 26 5| IAPT AYdH FHUGA 3R HgdH JHUddD hH: 84

a)“

aﬁizé‘,ﬁdﬁ{i@l&immdwmﬁﬁm a+@" 18
(4= 2K+ 14
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Thevalueof (2+ 13 +32-11) x4 + 64 is:

206

218

208

202
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In the arithmetic progression series 11, 16, 21, , what will be the

20" term?

gic FHIaR 90l 11, 16, 21, g, dI it @1 209 Ug 1 g2
104
106
108

110




